INSTALLATION

’

INSTALLATION INSTRUCTION

ASENNUSOHJE
MONTERINGSANSVISNING
AUFBAUANLEITUNG
NOTICE D

DATE: 12.1.2021

% LAPPSET.

FLORA
Q61027

AR o & 7
7 \ ¢ \ =)
7~ _ 0
N 7 42 J)
f 2\ Dl A




& LAPPSET.

Q61027

1(

W
~—

FLORA
DATE: 12.1.2021
003894 |pcs 702286 |pcs 702339 |pcs 705197  |pcs 705211 PCS 705214  |pcs
5 5 | 1] [ T 3 44 3
= 65x65 118x78 L=724 L=724 45x145x724
705239 |pcs 705258 |pcs 705262 705375 |pcs 705382 |pcs 705511  |pcs
12 ‘ 1 m 1 & 4
93x93x2850 = L 450
706505 |pcs 706531 PCS 706534 pcs| 706561—707|pcs 706980 |pcs
i€ 2 17 1 L !
— — '%fﬁﬂf — — —
o
" / NER '/
=1 | | F Y N |
35x70x730 15x765x370 15x765x370 SLIDE 80M
707133 |pcS 707304  |pcs 707585 |pcs 707732 |pcS 708370 |pcs 708372 |pcs
1 1 2 17 13
F4
10x80x745 28x200x1100 28x200x2000
708374  |pcs 708407 |pcs 708469 |pcs 708471 PCS 708472 |pcs 708473 |pcs
| W | m 1 @ 1 ) |
690x704 93x93x200
708474  |pcs 708595 |pcs 708645 |pcs 708670 |pcs 708681 PCS 708686 |pcs
1 @ 1 @ 3 3
s — — — — — —
j 28x700x1100 68x385x725 =
3 708691 |pcs| 708696 |pcs| /08700 |pcs| 708709 |pcs| /708710 |pcs| 708746  |pcs
f 3 2 3 3 8 38
% I I I I I I
Ql
Q.
5
i - - - - - -
3| 28x700x1100 68x385x725 700x1400 32x400x840 L 724




& LAPPSET.

Q61027

2(

3)

FLORA 3
DATE: 12.1.2021 a
708873 |pcs 708874 |pcs PCS 708884  |pcs 708885 |pcs 708890 |pcs
1 1 1 3 3 9
% % 8-BOLTS
28x200x1100 28x200x1100 705x940 45x374x591 45x374x591 93x93x3800
708896 |pcs 708898 |pcs 708905 |pcs 708906 |pcs 708909 |pcs 708917 |pcs
1 1 6 i 4 A 4 4
28x200x2000 28x200x2000 93x93x1846 45x145x372 28x352x1100 28x700x740
708921 |pcs| 708923 |pcs| 708945 |pcs| 708970 |pcs| 709027 |pcs| 709037  |pcs
2 ¥ 1 3 % i 1 m 1 1
28x340x1700 = = 28x350x2000 28x350%x850
709046 |pcs 709062 |pcs 709119  |pcs 709120 |pcs 709123  |pcs 709124  |pcs
% 4 10 2 1 W 1 1
68x120x704 93x93x704 93x93x370 93x93x1850
709761 PCS 709762 |pcs 709819 |pcs 900240 |pcs 901868 |pcs 902270 |pcs
8 A 2 16 40
15x177x1000 704x970 15x177x1000 @8x70 ?30x598 @5x50
903093 |pcs 903176 |pcs 903215 |pcs pcs| 905104 |pcs| 907688—216|pcs
12 1 . 132 1
pel
T i i i —
o @8x90 +1470 M10
5| 907701—-216lpcs| 908021 |pcs| 909256  |pcs 909491 |prcs 909511 |pcs| 909519  |pcs
2 48 17 17
4 T | > |
Q| ey
s S >
— S—
(o]
8 3x212x214 ?16/8.4x1.6




& LAPPSET.

Q61027

Copyright Lappset Group Ltd

FLORA 3b
DATE: 12.1.2021
909521 PCS 909633 |pCs PCS 909744 |pcs 909850 |pcs 980100 |pcs
6 48 8 1 48 326
I ,‘ I I I I I
= M8 705x612 705x1212 M8x25 @5%x60
980101 PCS 980110 PCS 980111 PCS 980114 PCS 980123 |pcs 980128 |pcs
12 24 16 8 54 83
s || (&)
\
24,5x70 4x35 P4x40 P4x20 @7x60 @7x40
A10373 |pcs A10403 |pcs PO7524 |pcs P0O7526 |pcs PO7664 |pcs P0O7837 |pcs
4 3 | o | i | o |
2 6 \ 3 3
93x93x1546 L 1200 L=1346
P08265 |pcs PCS PCS PCS PCS
1
8x550x702
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




Copyright Lappset Group Ltd

& LAPPSET.

FLORA

Q61027

DATE: 12.1.2021
+ + + + + + + + +
Use Zone 904 sq ft 1:50
. ) » | I
Max Fall Height 4'-9 7/8 0 >
N "800 i 2400° . 800 "800 1100 950 N
[21_7%:1] [71_10%11] [21_7%:1] [21_7%11] [31_7%»] [31_1311]
1500 |
[41_11én]
+ + + + + + 4 +
o b (D, »
N = 3®
+ + + + P + + + 8"’) i N
3 IS
O .
- O = O-0O,0 -
g 'T + +8 'I\ + + + + 9——5—10
0. ©| |
+ + + + Iﬁ + 4‘:l+
=00 =
ol — -
SN o™ ,8 5
+ + + +7 [ + + + + +

+

+ 2150 [7'—17]

+

OO

+

O O
O O
ol

:

1200

[3-11%]

wgp

800
+

<£2’

EOIORS

1450

280 [11”]

+

2150 [7'-1"]

[4-9"]




& LAPPSET.

FLORA

Q61027

DATE: 12.1.2021

4A

O

905104

600

S
600

Access— and
maintenance panel.
Asennus— ja huolto
luukku.

I

\908545

O OO0
O OO0
O 0O

Copyright Lappset Group Ltd

e 4 z Vd z 4 Vd 4 7 AN 2 s 4 ,L”
% 2 o . . PR TN Ng
4 7 » Ve 4 4 > 4 4 » 7 Ve V4 4 V4 4 4
7 4 4 4 4
C\] . S » g N N NN N N />° s L7 N
4 o o
. 4 7. » 7 » - > 4 z 4 4 » 4 » o 4 4
\ ,_/\A A 2
g’ \ ’ 49 e
ag 2
\ < 4 a 7 <
A /% /%g' ’ ’ % % % = ’ % % %
7 Ve ° ” Ve 4 [ Vd Ve
N o £ . o, s o P . » o L7 N o P . »
Lt e, [ L [
C\J 4 z 4 » s 4 4 »
N -~ b3l 99 bRl
- Concrete block 84 x84 x3

2 x Steelnet 8 #150 (79°x797)




Copyright Lappset Group Ltd

s LAPPSET. Q61027

FLORA

DATE: 12.1.2021

Use Zone 904 sq ft
Max Fall Height 4'-9 7/8" 1:75

7450
[24'-5"]

[36'—3"]

o/
®| 2,
Qi —
® |2,
1830
(6] i
a s S
RI E=S S
© ﬁ )
OL—| ‘
2L G
ol
|2,
11210
[36'—10"]




& LAPPSET.

FLORA

Q61027

DATE: 12.1.2021

SA

+6840 [22°-5 1/2"]

+3590 [11°-9 1/2"]

+1470 [4'—9 7/8"]

+0 [0”]

+4200 [13'-9 1/2"]

+2790 [9'~1 7/8"]

+420 [1'-4 1/2"]
+0 [0"]

Copyright Lappset Group Ltd




Q61027

‘

\V///'.///‘///‘.i.-lfﬂy/l.//

| \w‘//.-///‘.- oll=l1m N\«

PN\ P —— TR

M\ I e N (]

| TN | = \H//Q?i!//
d V/“M‘I fi..:ﬂ i// .~|- L
'///a' A TR I/ilh

12.1.2021

/‘/ﬂ/ -?///'!.7 —
\ 4:://'..5.,///‘\.7.//,

DATE:

\.h’/

1

=

& LAPPSET.

FLORA

p3}7] dnoug 3jasddpT jybrhdon




Copyright Lappset Group Ltd

& LAPPSET.

FLORA

Q61027

6A

HUOM:
Seindt sisdltdvdt

DATE:  12.1.2021

DET 1 DET 2 DET 3 DET 4
LJL Mol i e -
L[]

905104

lattia puomin 705211.

DET 5

28x90
(903093)

DET 7

7x40

DET 9 DET 11 DET 12
Line up edges
| Line up cdgos
: E 0ox60 D4x35
WNWOO :
DET 13 DET 14 DET 15 DET 16
#8x90 M8x30
903093 @92214208 o N 903176 %
Tl | = :
) ‘% @7x60
1 * A
DET 17 DET 20
T
5 TN




Q61027

DATE:

% LAPPSET.

7

12.1.2021

FLORA

909491
x6
708890
708746

P @‘@ i

/™

2>

X

@ITIIIIIII||||||||I|||||||||||| |

\\\ /‘\\/ 5

%
@M‘“ Ilz.va«

\ //\\/.,J@ 5

/

Q

(7,1‘)

A
4..,

N

T B0 —

Lol B!

a ] A S —

= =
— A

”w m“sﬂ -.---F (o= ,&

Lol

()

p3y7] dnoug 3jasddpT jybrhdon



& LAPPSET.

FLORA

Q61027

DATE:

12.1.2021

TOWER A

7a

A

+3800 [12'-5%"]

+2690 [8'-10"]

1:50

+3550 [11'-7§"]

+3430 [11'=3"]

+2840 [9'-37"]

+2690 [8'-10"]

+1520 [4'-11%"]

+1370 [4'—6"]

R e +1250 [4-171]
Sk« +330 [1'=1"]
+0 [07] +0 [0']
o
O —
Q|
©o| |

+2150 [7'-07"]

+1420 [4'-8"]

+900 [2'-113"]

+330 [1'-1"]

+3550 [11'-78"]

+3410 [11'-2§"]

130

+2690 [8'-10"]

+1370 [4'-6"]

Copyright Lappset Group Ltd




& LAPPSET.

Q61027

TOWER B

FLORA DATE: 12.1.2021 7 b
X <
T

S
705211

708746

0

1

S XN

708746

J

Copyright Lappset Group Ltd

A § C \ /
G
708890 > AL / S
x3 (7";\‘) D A
704872
T
708917
708407 T )
709062
708710
ij 909743
709046 (D
708700
708700 q
709062
709819 708746 708407 (708473) (708890




& LAPPSET.

Q61027

DATE:

12.1.2021

TOWER B

7c

+3430 [11'-33"]

+2690 [8'-10"]

+1370 [4'-6"]

FLORA

+0 [07]

1:50

B
1

+3290 [10'-98"]

+2840 [9'-3§"]

+2690 [8'-10"]

+2340 [7-87%"]

+1370 [4'-6"]

+0 [07]

%

Copyright Lappset Group Ltd

I 11




TOWER C

® Q61027

5 LAPPSET

FLORA

7d

DATE: 12.1.2021

_—

PR

/ !

DV -
%

-
v
y

- \
il .
A A
Al A
A &
R 2777/
N NLZZ T
/A K
LEN 5
Lt/ (77777
=7 \MNME\\
H 777777,
LLLLL A
XY

4
7/
i\iﬂ\i.i\il\l\\\‘h %
““““““ N~ 1.
Y B




& LAPPSET.

FLORA

Q61027

DATE:

12.1.2021

TOWERC

Te

A

1:50

+900 [2'-113"]

+150 [5§"]

0

Copyright Lappset Group Ltd




TOWER D
Tf

12.1.2021

Q61027

DATE:

& LAPPSET.

FLORA

708681

DET 3

708696

PO7664

X3

709120

708746

Y

/

x14

N

(O

909743)|P08265 z

DET WALL

p3y7] dnoug 3jasddpT jybrhdon



& LAPPSET.

FLORA

Q61027

DATE:

12.1.2021

TOWER D

79

A

1:50

+1130 [3'-83"]

+270 [108"]

+390 [1"-33"]

+0 [0”]

+150 [5§"]

0

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

8 LAPPSET, Q61027 TOWER E
FLORA DATE: 12.1.2021 7 h
<E§%%E§} — I DET 3
>l
708645 L~
\‘
=
|/ .
|
N B
! .
D/ \A

DET 8, 9

A)
708923 %

\DET 15, 16

708370
X3

708909
X2




2 LAPPSET. 061027 TOWER E
FLORA DATE:  12.1.2021 7|
1:50

A

250 ‘
[91"]

1250

Copyright Lappset Group Ltd




TOWER F

Q61027

DATE:

& LAPPSET.

FLORA

7j

708670

12.1.2021

?/\7

NS T N

708884

0o

708906
708885

708645
708905

p3y7] dnoug 3jasddpT jybrhdon



Copyright Lappset Group Ltd

3 LAPPSET, 061027 OWER F

FLORA DATE:  12.1.2021 7 k

(A) 1:50

(-9

93]

1250




TOWER G

Q61027

DATE:

& LAPPSET.

FLORA

71

708645

12.1.2021

708670

708884

DET 4
708709

708370

p3y7] dnoug 3jasddpT jybrhdon



FLORA DATE:  12.1.2021 7m
1:50

A

950
[3'-18"]

250
[9%"]

Copyright Lappset Group Ltd




TOWERH
n

12.1.2021

Q61027

DATE:

& LAPPSET.

FLORA

708874
708370
x8

||

==

i —

/AN/ N\

—— D —

DET 8, 9

709819

=== 3

AN

NN

DET 2

p3y7] dnoug 3jasddpT jybrhdon



Copyright Lappset Group Ltd

& LAPPSET.

FLORA

Q61027

DATE:

12.1.2021

TOWERH

70

A

1:50

b:
9:

+1370 [4'-6"]

+990 [3'-3"]

+610 [2']

+230 [9"]
+0 [0"]




p

TOWER |

12.1.2021

Q61027

DATE:

& LAPPSET.

FLORA

B
7
\A

DET 17-20

= H:ul,..y 2 \TN%WU
\»’/‘\\f’”‘o& /Y, /; 4 4 Ay ©
——————— ub .‘\Q

Vo \X

‘“”'II#

N~ QY
DRV

*‘ ”_'I'»Q m
= W 2
> N
o
(®)]
~
M
00 M)
N X
o
[0

p3y7] dnoug 3jasddpT jybrhdon



— 1 APPSET® Q61027 TOWER |

FLORA DATE:  12.1.2021 7q

@ 1: 50

Hoon

+1200 [3'=114"]
+780 [2—6%"]
+320 [1"-08"]
+10 [§7] +0 0]




Q61027

DATE:

& LAPPSET.

FLORA

12.1.2021

4 y /
g Y £ YV
\\\ / \‘/’//W 4 \.\\. 4 &

) 4 4
7/ &
Yo %
& 4 \«x/ Y \\\\\,\,\
\/ 4 <
"\\/ g H
vy
7 4 H £
'y vy
gl
Y ¥ &

7 )

i —\ .

f—

Q \Rw.\dv/'a

\ K ,,@/Sy
NN

\{/%

U
e N

A, S
, e X 5
\.“,\\‘\w_\_.W\lﬂnf/ 2
L/ A —
2 \ O 3
\H

/H

p3y7] dnoug 3jasddpT jybrhdon



VA \
~A\

12.1.2021

Q61027

DATE:

& LAPPSET.

FLORA

p3y7] dnoug 3jasddpT jybrhdon



% LAPPSET. NARROWING KIT

FLORA ASTM

27.5.2020

DATE:

PCS

2

1(2)

15x177x1000

2]

(1) 709819 |pcs|(2) 709820

15x177x1000

7

PCS

PCS

PCS

8
PCS
8

1 —————————————————————————————

@7x60

)

980123

PCS

8
PCS
8

i

(3 903176 |rcs|(4) 903215
6

(5) 909256 |Pcs|(6) 909633

3

X7 R

709819

p—————————

Y4

*”

DET 1

216/8.4x1.6
(7) 909850

DET 3, 4

p17 dnou9 3jesddo yybrkdon




% LAPPSET. NARROWING KIT

Copyright 1998 Lappset Group Ltd

FLORA ASTM DATE:  27.5.2020 2(2)
DET 1 DET 2
Handrail
705222 n |
— Handrall
/:¢f ; A
P /0849 / >
. T
I EN I
| = )
59 /09820 =M
~ | SR
/09819 % O V’i
. ||T g
- Qé L+
BN o=
\ Fﬁ
T
DET 3
MEx25
9051 /6
903215
216/8.4 g“ 37 x60
Z 0] e
/ i
@ @@




O 3 I N - - I -1 -1 I ) - N 1 N - e
(@]
x | = ~ O | = < X
b 28 . EBO—E
® o ® © ® ¢
2 K I I 1 1 I 1 I 3 3 I I 1 ) I 1 I 1 I e W 1
(@)
o 2|2 R 5 83 8
~ QQ [SEKe)) Q|0 FwP :vw
o > 85 © © Y *b ¥

3m
QO |
<t ¢
o - 7
™ | v =LA o
<z 5 D
DD

800

,, ,, ,
{ \
\/
s N XN 2
R e R RN
N // \ Q) 7
X R N v,
, \ )
=, = N Q&
N VA N \ JAN
Q S S,
Ny
[ /
N\ .\\
N

e e N

\ |.

G

————————

% LAPPSET.
FLORA

p17 dnous 3yesddo yybrhdon



Lopyrignt 1995

% LAPPSET.
FLORA

A10403

DATE:

11.5.2020

DET 1

06x60

DET 3

0 e
I 4 0
Ly
I B7x60 07x40

DET 8




3(3)

| |
0/L 7

DET 9

11.5.2020

A10403

DATE:

0S0lL

N N .  ———————————————————————
B\ N N -
N 7 S S ]
N\ WA R X .ﬁv/
R R . » N N\ ll/l/
>\ N QA N\
Q - R /3] w'
N AT N
R RN/
D N e = —
KW ¥ E
A/I /I //
AN e
\ '
1)

'“

\//.

o711,
1}
=JL::::::::::::$IE
Te——71

——J
——— 7
800

CITT T 1 T T T '
T} g a rga
ot 1,/ 1,/ 3

#® LAPPSET.
i

FLORA

Py dnouo jesddop ge6L 3yblAdoD



Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705262

DATE:  30.3.2020 1(2)
(1) 705248 |pcs|(2) 905083 |pes
il K 4]
- | 4]
DET 1, 3 2 ‘4 ‘\\f\\;\\“
I DET 2, 3 I
< (3 905112 [pes|(4) 909232 [pcs]
g lil 4 4
L ® ||=|
[l @22 | | esxa20 | |
(5) 980151 |pcs(6) 900240 |pes|
4 16
o16/84 | | @8x70 | |
U
U — -
o o o =
[k {
I {
db db ddb b
[1 [T [T
800 2400




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705262

FLORA DATE:  30.3.2020 2(2)
DET 1 032 DET 2
ATT |
Pre drilling
» Pomm
JEx /0
@éxﬂdL/// (900240)
909232
716 /8.4
980151
@22
905112
DET 3
Jmjil HJ@[
L)
@)
@)
LO)
@)
jmjin G @[ N
L)
L)
l |




Copyright Lappset Group Ltd

% LAPPSET. 705375

FLORA DATE: 30.1.2018 1(2)

(1) 701092 |pes|(2) 705331 |pcs

15x120x700 45x645x1670
(3) 705363 |pcs|(4) 705373 |pcs

N

L 2120 95x1005x1365
(5) 705374 |pcs|(6) 900240 |pcs

DET 1, 3, 4 \

o
(93
[%]

95x1005x1369 28x70
(7) 909256 |pes|(8) 909855 |pes
DET 6 4 4]
)
S| |

216/8.4x1.6 | | M8x35 | |

(9) 980107 |pes|i0) 980123 [pcs|

13 4

S — —

P
@6x60 | | @7x60 | |
(1) 980128 |pcs| pes
5

. ° ] -

‘ o7x40 | | B

33 o) P
— O

e - -

PCS PCS
o

~ I I
¥




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705375

FLORA DATE:  30.1.2018 2(2)
DET 1 DET 2
"‘v
XN o
/
WBEx /0
216/8,4 (900240)
(909256)
MEx 3D
(909855)
DET 3
Woxo0

(980107)

/x40

(980128)

DET 5 /x40

(980128)

(980123)

DET ©




Copyright Lappset Group Ltd

% LAPPSET.

705511

FLORA DATE:  27.1.2021 1(1)
</\_> (2) 900240 Pes|
Al 4]
@8x70 | |
o =
Pes PCS|
Pes Pes|
Pes PCs|
Pes Pes|
N
DET 1 DET 2 PCS PCS

AN

8x/0

/05511

200

PCS

PCS




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




% LAPPSET.

HPL

WALLS 4 points

Copyright Lappset Group Ltd

DATE: 29.3.2016 1(2)
T (1) 903176 |pes|(2) 909850 |pcs|
PN 4
o N\ <Y
DET 1,2 ||fS] W
| wexes | ]
(3) 909256 |pes|(4) 909633 |pcs|
oy
016 /8.4x1.6 | | -
(5) 980123 |pes| pes
4 -
o7x60 | | N
PCS PCS
uf - .
Uﬁ =
J
D’ — —o
0o
0a 0o
O
0a 00
8 0o DB _ u’l\)
~ o (@[] —
3 =
[T
800




8 LAPPSET@ WALLS 4 points

Copyright 1998 Lappset Group Ltd

HPL DATE:  29.3.2016 2(2)
g v DET 2.3 N DET 2,3
5 al f Al
g ' Sl ° off
~ ) q ®
®
®
®
1 il 1 1
DET 1 YEN DET 2 |
(909850) 903176
216 /8.4 g‘ O 7x60
(909256) 1(980123)
10mm plate M8
(909633)
DET 3
MEx25
<90985O>9[l3ﬁ76
216 /8.4
(909256)
15mm plate \ M8
(909633)




1(1)

27.5.2015

SLIDE PLASTIC
|

DATE:

% LAPPSET.
DEEP FOUNDATION

L

Ll

K\\ \/

)

|

P31 dnoug 3osddpT 866l 1yblAdoD




% LAPPSET.
DEEP FOUNDATION

SLIDE PLASTIC

3.11.2017

1(5)

DET 4
DET 5

<

DET 1, 2

SLIDE OPTIONS

904451 GRAY
904847

YELLOW

905833  GRAY
905834 YELLOW

WALL OPTIONS

Copyright Lappset Group Ltd

RIGHT
/(//

706560—-701

706560-702
706560-703
706560—-704
706560—705
706560—-706
706560—-707
706560—708

BLUE
YELLOW

LIME

DRARK GRAY
LIGHT GRAY
RED

GREEN

FUXIA

706561-701

706561-702
706561-703
706561-704
706561-705
706561—-706
706561-707
706561-708

BLUE
YELLOW

LIME

DRARK GRAY
LIGHT GRAY
RED

GREEN

FUXIA




Copyright 1998 Lappset Group Ltd

% LAPPSET

SLIDE PLASTIC

DATE:  3.11.2017 2(5)

ps| pes(O) 706560 [pes|() 706561 |pes|() 706505 [pes|(C) 901868  [pcs|

1] a0 <A K1 i Fl 1

] | W ] - L

+1470 +870 LEFT 35x70x730 ?34x598

(2) 903093 |pes| pesi(4) 980152 |pes|(5) 909852 [pes((6) 900240 |Pes|

| 2 | 9] 6 | 3 |

| @exe0 | | osxe0 | | w@24/84 | | wmex30 | | @8x70 | |

g
N




% LAPPSET

SLIDE PLASTIC

80M DATE:  3.11.2017 3(5)
DET 1 DET 2
22 <§i§ : © | ESIPORAUS
H ) ”— | PRE DRILL
SS e
5460 T 28x90
(980100) (903093)
Dﬁ\\
706505
P
O o
o o i : \\
T IS
DET 3 DET 4
901868 999561
M 8x40
(909876)
L T 224/8.4
<‘/\'> // o LT | <98©W52>
‘ MBx 350
/ (909852)

Copyright 1998 Lappset Group Ltd

Dc4/8.4
(980152

8% /0
(900240




% LAPPSET

SLIDE PLASTIC

DEEP FOUNDATION 3.11.2017 4(5)
(O 707133 |pes|() 901868 |pes(C) 908021 |Pes|(8) 909210 [pes(9) 980154 |Pes|f0) 905051 [pes
| 2] 2] 4 | 4 4
10x80x745 | | @30x598 | | | wMexa0 | | o24p13 | | @24/84 | |
(11) 909142 |pes|12) 909644 |pcs|
4 | 4
m2x7o || w2 ]

Copyright 1998 Lappset Group Ltd




8 LAPPSET. SLIDE PLASTIC
DEEP FOUNDATION DATE: 3.11.2017 5(5)

DET 6

, =&
. /

//a / M8x40 (909210)
/’ //’ 924 /8.4 (905051)
e~
,.;aiﬂ

= s B

Copyright 1998 Lappset Group Ltd

B )
i
M12x70 (909142)
@26 /13 (980154) M12 (909644)
DET 7/
901868

@24 /8.4

(905051)
\ M8x40
707133 (909210)

te—y0)




707585

1(1)

15.3.2016

DATE:

PCS

PCS

pesj() 707303 [pes

1]

PCS
PCS

(1) 900240

@8x70

(O 707302

1]
f \

(O 707304 [pes|(C) 707305

% LAPPSET.

FINNO

900240
@8x70

DET 1

DET 1

p}7] dnous jesddo yybriAdon



% LAPPSET.

GRIP

FINNO DATE:  18.1.2016 1(1)
(1) 900240 [pes|(2) 900727 [pes
1 §§§§§§ 1
| M _
3)
N | _
B M10x80
PCS PCS
. _ |
(3 907688 [Pss|(3) 907701 [Pes|
L 1]
765 B | _
PCS PCS
- PCS PCS
DET 1 ) __ __
Ox80
Pre—dril
100 Hole. | ___
ooz oo

M1
(9\77)%)

N

PCS

PCS

Copyright Lappset Group Ltd

SET 3

—

PRE—-DRILL HOLE.

St

870
(900240)

PCS

PCS

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

003894

DATE:

11.1.2007

1(1)

(® 900240

PCS

5x40

PCS PCS

PCS PCS

PCS PCS

(O 007120  [pcsfO 007121  [pcs

T T

DET 1 DET 2 (O 007122 |pesfD 007123 [pes
1 1

(O 007124 |pesfO 007125 [pcs

%




® LAPPSET. 708686

CUBIC DATE: 27.1.2021

(1) 708646

@@@@@@@

cs|(2) 909252 |pcs




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET.

708945

Copyright Lappset Group Ltd

FLORA DATE: 14.5.2019 1(2)
(1) 708257 |pes|(2) 708943 |Pcs|
? DET 1 B K
9 </
e | |
] @16x350 8x694x694
pe, (3 901899 |pes|(2) 903093 |Pes|
ill H 6
@M
Mex45 | | eexe0 | |
/% (5) 905083 |pesi(6) 905112 [Pes|
~ 6] 6
:
g2 | | @22 ||
L \(2 (7) 908295 |pes|(8) 909256 |Pcs|
L u H 2
82x40x17x3 | | @16/8.4 | |
(9) 909568 |cs|i0) 909633 |Pcs|
5| 9
e &
' 3 < - L
M8x55 M8
(1) 909850 |pes|i2) 910759 |pcs|
6] N
P
Mex25 | | B
(13 980152 |pcs|i4) 980160 [Pcs|
12| 5|
®
@24/8.4 | | V-
P2

N
< =
A




% LAPPSET. 708945

FLORA DATE: 14.5.2019 2(2)
DET 1
M3
(909633)
216/8.4 024 /8.4

@@/////<909256> (980152)

(980152)

Copyright 1998 Lappset Group Ltd

M8x25 M8x45
(909850) (901899)
DET 2 DET 3
M8x55 329
(909568) (905112)
?8x90

(905083)

216 /8.4
(909256)

M8
(980160)




Copyright Lappset Group Ltd

#® LAPPSET.

708970

DATE: 24.5.2022 1(3)
(1) 709011 |pes|(2) 706443 |Pcs|
1 2]
DET? ] -
32x95x502 32x95x702
\ (3 708988 [res|(3) 708990 [ecs
-303 P =303 P
F T
708988
DET 2 216x1100 216x795
DET 6 (5) 708991 |pcs((6) 708950 |pes
—303 | -707 ]
K | & i i
DET 3 alll
706443
216x575 | | 15x750x750 | |
(7) 708951 |pes((8) 902270 |pes
-707 1] s |
708950 N
@650x15 | | @5x50 | |
708951 708990 (9) 980123 |pes(10) 901302 |Pcs|
18] L+
J
708991 DET 5 L i
T @7x60 ©20/10.5x2
0 (11) 980150 |cs(i2) 909863 |Pcs|
| I 8 8
0 2 1 1
© —
N/ ),
M8 | | wmBxes | |
(13 900240 |cs|i4) 980128 |Pcs|
9 5
o — —
=
i ﬂ
5 L] -
b 28x70 @7x40
o
o
[(e]




' LAPPSET@

708970

DATE: 24.5.2022 2(3)
N DET 2
@5)(50
(902270)
N
(900240)
DET 3 -~

@7)(4_0

<

@20/10.5

(980150)\\Sﬁz %ﬁ?

Copyright 1998 Lappset Group Ltd

M8x65

(909863)\\\\

(980150)




® LAPPSET"

708970

DATE:

24.5.2022

3(3)

DET 7

s

27x40 .

(980128) "\ lo
o \|B

) /x60

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

909521

FINNO DATE:  15.6.2003 1(1)
(1) 909511 [pes|(2) 909519 [pcs|
1
(3) 909637 |pes|(4) 909638 [Pcs|
4 8 |
1@)
= &
Mo | | 201105 | |
(5) 909639 |pes| PS|
4 -
DET 1 i - -
M10x25
) P
) P
s s
DET 1 — -
909511 ] -
10x25

@20

909519

PCS

PCS




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




Copyright Lappset Group Ltd

% LAPPSET. FOOT
DEEP FOUNDATION DATE:  30.5.2024 1(1)
Sand 0.2—2 mm/
8 oravel 22— mm <@
T 8
()




Copyright Lappset Group Ltd

% LAPPSET.

FLORA

705258

DATE: 24.5.2022

1(1)

(1) 706443

7

32x45x702

Pes|(2) 705257 |pes

32x750x750

(3) 900240

LCS@ 980101 |pcs

@8x70 @4.5x70
£ ¢ | | | |
o
3
£3 3%
800
DET 1 DET 2 DET 3
4.5x/0
QN
/064453 M

N\

@3x/0

(i
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




	Q61027_1
	Q61027_4
	Q61027_6
	Q61027_2
	Q61027_3
	Q61027_5
	Q61027_7
	Q61027_INSTALL.pdf
	Q61027_1
	Q61027_2
	Q61027_3
	Q61027_4
	Q61027_5
	Q61027_6
	Q61027_7
	8
	9
	10
	12
	13
	15
	16
	17
	18
	20
	21
	22
	23
	24
	25
	26
	27
	28
	30
	29
	31
	32
	33




